

## Fixed Point Results in Soft Metric Space

Ramakant Bhardwaj<sup>1a,b</sup>, Shweta Singh<sup>2</sup>, Sudeep Pandey<sup>3</sup>, B R Wadkar<sup>4</sup>

<sup>1a</sup>Department of Mathematics, AMITY university Kolkata (WB), India,

<sup>1b</sup> Department of Mathematics, APS University Rewa MP , India

<sup>2</sup> Department of Mathematics , Jagran Lakecity University Bhopal

Department of Mathematics Govt. College Amarpur, Dindori (MP)

<sup>3</sup>Department of Mathematics, G H Raison Institute of Engineering and Technology, Pune

Corresponding Author : sudeepandey1976@gmail.com

### Abstract

In the present paper some theorems on soft metric spaces are established for Non-expansive mapping. The obtained results are generalized form of some basic fundamental results in fixed point theory and very useful in engineering and agriculture studies. The results are established at the basis of soft set principle.

Keywords: Non-expansive mapping; soft metric space, fixed point.

### 1. Introduction and Preliminaries:

The generalization of fixed point theorems for non- expansive mappings are very useful not only in functional analysis but also in engendering, management, pure and applied physics.

Suzuki [15] defined and explained A class of generalized non expansive mappings on a nonempty subset C of a Banach space X in 2008. The detail about soft sets, soft fixed point, soft metric space can be seen in [3,4,22. 17]

**Definition 1.1:** (See [14]) Let M be a nonempty subset of a Soft Metric space  $(\tilde{X}, \tilde{d}, E)$ . A mapping  $F: M \times M \rightarrow \tilde{X}$  is called a non expansive if  $\tilde{d}(Fx_{s_1}, Fy_{s_2}) \leq \tilde{d}(x_{s_1}, y_{s_2})$ , for all  $x_{s_1}, y_{s_2} \in M$ .

**Definition 1.2:** (See [14]) For a nonempty subset M of a soft metric space  $(\tilde{X}, \tilde{d}, E)$ , a mapping  $F: M \times M \rightarrow \tilde{X}$  is said to be quasi non expansive if  $\tilde{d}(Fx_{s_1}, z_{s_3}) \leq \tilde{d}(x_{s_1}, z_{s_3})$ , for all  $x_{s_1} \in M$  and  $z_{s_3} \in SF(E)$ , (where SF(E) denotes the set of all Soft points of E).

### Definition 1.3:

(See [14]) For a nonempty subset M of a soft Metric space  $(\tilde{X}, \tilde{d}, E)$ , a mapping  $F: M \rightarrow \tilde{X}$  is said to satisfy the contractive-condition (CC) on M if  $\frac{1}{2} \tilde{d}(x_{s_1}, Fx_{s_1}) \leq d(x_{s_1}, y_{s_2})$  implies  $\tilde{d}(Fx_{s_1}, Fy_{s_2}) \leq d(x_{s_1}, y_{s_2})$  for all  $x_{s_1}, y_{s_2} \in M$ .

Obviously every non expansive mapping satisfies the contractive condition (CC) on M. But there are also some non continuous mappings satisfying the condition (CC) (see [16]).

**Definition 1.4:**

(See [7]) For a nonempty subset M of a soft metric space  $(\tilde{X}, \tilde{d}, E)$  and  $\alpha \in (0, 1)$ , a mapping  $F: M \rightarrow \tilde{X}$  is said to satisfy  $(CC_\lambda)$ -contractive condition on M if  $\alpha \tilde{d}(x_{s_1}, Fx_{s_1}) \leq d(x_{s_1}, y_{s_2})$  implies  $\tilde{d}(Fx_{s_1}, Fy_{s_2}) \leq d(x_{s_1}, y_{s_2})$ , for all  $x_{s_1}, y_{s_2} \in M$

**Definition 1.5:**

(See [7]) If M is a closed convex and bounded subset of  $(\tilde{X}, \tilde{d}, E)$ , and a self mapping F on M is non expansive, then there exists a sequence  $\{\tilde{x}_{\lambda_n}^n\}$  in M such that  $\tilde{d}(\tilde{x}_{\lambda_n}^n - F\tilde{x}_{\lambda_n}^n) \rightarrow 0$ , such a sequence is called almost soft point sequence for F.

**Definition 1.6:**

(See [7]) Let M be a nonempty subset of a soft Metric space  $(\tilde{X}, \tilde{d}, E)$  and  $\{\tilde{x}_{\lambda_n}^n\}$  be a bounded sequence in  $(\tilde{X}, \tilde{d}, E)$ . For each  $x_\lambda \in \tilde{X}$ , we have

- (i) asymptotic radius of  $\{\tilde{x}_{\lambda_n}^n\}$  at  $x_\lambda$  is defined by  $r(x_\lambda, \{\tilde{x}_{\lambda_n}^n\}) = \limsup_{n \rightarrow \infty} d(\tilde{x}_{\lambda_n}^n, x_\lambda)$
- (ii) asymptotic radius of  $\{\tilde{x}_{\lambda_n}^n\}$  relative to M is defined by  $r(M, \{\tilde{x}_{\lambda_n}^n\}) = \liminf_{n \rightarrow \infty} r(x_\lambda, \tilde{x}_{\lambda_n}^n): x_\lambda \in M$ .
- (iii) asymptotic center of  $\{\tilde{x}_{\lambda_n}^n\}$  relative to M is defined by  $A(M, \{\tilde{x}_{\lambda_n}^n\}) = \{x_\lambda \in M: r(x_\lambda, \{\tilde{x}_{\lambda_n}^n\}) = r(M, \{\tilde{x}_{\lambda_n}^n\})\}$ .

We note that  $A(M, \{\tilde{x}_{\lambda_n}^n\})$  is nonempty. Again, if  $\tilde{X}$  is uniformly convex, then  $A(M, \{\tilde{x}_{\lambda_n}^n\})$  has exactly one point.

**Definition 1.7:**

(See [14]) A Soft Metric space  $(\tilde{X}, \tilde{d}, E)$  is said to satisfy the opial property if, for every sequence  $\{\tilde{x}_{\lambda_n}^n\}$  in  $\tilde{X}$  with  $\tilde{x}_{\lambda_n}^n \rightarrow z_\mu$ , we have  $\lim_{n \rightarrow \infty} \inf d(\tilde{x}_{\lambda_n}^n, z_\mu) \leq \lim_{n \rightarrow \infty} \inf d(\tilde{x}_{\lambda_n}^n, y_\eta)$  whenever  $y_\eta \neq z_\mu$ .

**2. Some modified Results:**

**2.1. Definition:**

Let M be a nonempty subset of a soft metric space  $(\tilde{X}, \tilde{d}, E)$ . Let  $\gamma \in [0, 1]$  &  $\mu \in [0, \frac{1}{2}]$  be soft real numbers such that  $2\mu \leq \gamma$ , a soft mapping  $F: M \rightarrow \tilde{X}$  is said to satisfy the condition  $B_{\gamma, \mu}$  on M if, for all  $\tilde{x}_\lambda, y_\eta$  in M,

$$\gamma \tilde{d}(\tilde{x}_\lambda, F\tilde{x}_\lambda) \leq \tilde{d}(\tilde{x}_\lambda, y_\eta) + \mu \tilde{d}(y_\eta, Fy_\eta), \text{ implies } \tilde{d}(F\tilde{x}_\lambda, Fy_\eta) \leq (1 - \gamma) \tilde{d}(\tilde{x}_\lambda, \tilde{x}_\lambda) + \mu (\tilde{d}(\tilde{x}_\lambda, F\tilde{x}_\lambda) + \tilde{d}(\tilde{x}_\lambda, F\tilde{x}_\lambda))$$

Clearly, this class includes the class of non-expansive mappings (for  $\gamma = \mu = 0$ ).

Also, if a mapping satisfies the contractive condition (CC), then it will satisfy the condition  $B_{\gamma,\mu}$  for  $\gamma = \mu = 0$ .

As  $\frac{1}{2}\tilde{d}(\tilde{x}_\lambda, F\tilde{x}_\lambda) \leq \tilde{d}(\tilde{x}_\lambda, \tilde{y}_\eta) \Rightarrow \tilde{d}(F\tilde{x}_\lambda, F\tilde{y}_\eta) \leq \tilde{d}(\tilde{x}_\lambda, \tilde{y}_\eta)$  for (CC) condition

So, clearly,  $\tilde{d}(F\tilde{x}_\lambda, F\tilde{y}_\eta) \leq (1 - \gamma)\tilde{d}(\tilde{x}_\lambda, \tilde{y}_\eta) + \mu(\tilde{d}(\tilde{x}_\lambda, F\tilde{y}_\eta) + \tilde{d}(\tilde{y}_\eta, F\tilde{x}_\lambda))$  for  $\gamma = \mu = 0$ , but the converse is not true.

2.2. Lemma: Let  $M \neq \emptyset \subset \tilde{X}$ ,  $F: M \rightarrow \tilde{X}$  which satisfy  $B_{\gamma,\mu}$  condition. If  $z_\rho$  is a soft point of  $F$  on  $M$ , then,

$$\tilde{d}(z_\rho, Fx_\lambda) \leq \tilde{d}(z_\rho, x_\lambda), \text{ for all } x_\lambda \in M.$$

Proof: Since  $\gamma\tilde{d}(z_\rho, Fz_\rho) = 0 \leq \tilde{d}(z_\rho, x_\lambda) + \mu\tilde{d}(x_\lambda, Fx_\lambda)$ . By  $B_{\gamma,\mu}$  condition,

$$\begin{aligned} \tilde{d}(Fx_\lambda, Fy_\eta) &\leq (1 - \gamma)\tilde{d}(z_\rho, x_\lambda) + \mu(\tilde{d}(x_\lambda, Fz_\rho) + \tilde{d}(z_\rho, Fx_\lambda)) \\ &= (1 - \gamma)\tilde{d}(z_\rho, x_\lambda) + \mu(\tilde{d}(x_\lambda, z_\rho) + \tilde{d}(z_\rho, Fx_\lambda)) \Rightarrow \tilde{d}(z_\rho, Fx_\lambda) \leq \end{aligned}$$

$$\left(\frac{1-\gamma+\mu}{1-\mu}\right)\tilde{d}(z_\rho, x_\lambda) \leq \tilde{d}(z_\rho, x_\lambda) \text{ (as } 2\mu \leq \gamma)$$

So  $F$  is quasi-non expansive. However, the converse of above Lemma does not hold in general

Example

Let  $F: [0, 4] \rightarrow [0, 4]$  defined by  $Fx_\lambda = \begin{cases} 0 & \text{if } x_\lambda \neq 4 \\ 3 & \text{if } x_\lambda = 4 \end{cases}$ . Then  $F$  has a soft fixed point at  $x_\lambda = 0$ , and also  $F(x_\lambda) \leq x_\lambda, \forall x_\lambda \in [0, 4]$ .

Hence,  $F$  is quasi-non expansive. We show that  $F$  does not satisfy the condition  $B_{\gamma,\mu}$ .

For  $x_\lambda = 4, y_\eta = 3$

$$\gamma\tilde{d}(x_\lambda, Fx_\lambda) = \gamma \leq 1 + 3\mu = \tilde{d}(4, 3) + \mu\tilde{d}(3, F(3))$$

But  $\tilde{d}(Fx_\lambda, Fy_\eta) \leq \tilde{d}(F(4), F(3)) = 3$  and

$$(1 - \gamma)\tilde{d}(x_\lambda, y_\eta) + \mu(\tilde{d}(x_\lambda, Fy_\eta) + \tilde{d}(y_\eta, Fx_\lambda)) = 1 - \gamma + 4\mu \leq 1 - \gamma + 2\gamma \quad (\because 2\mu \leq \gamma)$$

$$< 3 \quad (\text{as } \gamma \in [0, 1])$$

$$= \tilde{d}(Fx_\lambda, Fy_\eta)$$

So,  $B_{\gamma,\mu}$  condition is not satisfied. The following are some basic properties of mappings which satisfy the condition  $B_{\gamma,\mu}$  on  $M$ .

### 2.3. Proposition:

Let  $M$  be a nonempty subset of a soft Metric space  $\tilde{X}$ . Let  $F: M \rightarrow M$  satisfy the condition  $B_{\gamma, \mu}$  on  $M$ . Then, for all  $x_\lambda, y_\eta \in M$  and for, some soft number  $m \in [0, 1]$

- (i)  $\tilde{d}(Fx_\lambda, F^2x_\lambda) \leq \tilde{d}(x_\lambda, Fx_\lambda)$   
(ii) at least one of the following ((a) and (b)) holds:

- (a)  $\frac{m}{2}\tilde{d}(x_\lambda, Fx_\lambda) \leq \tilde{d}(x_\lambda, y_\eta)$   
(b)  $\frac{m}{2}\tilde{d}(x_\lambda, F^2x_\lambda) \leq \tilde{d}(Fx_\lambda, y_\eta)$

The condition (a) implies  $\tilde{d}(Fx_\lambda, Fy_\eta) \leq \left(1 - \frac{m}{2}\right)\tilde{d}(x_\lambda, y_\eta) + \mu[\tilde{d}(x_\lambda, Fy_\eta) + \tilde{d}(y_\eta, Fx_\lambda)]$  and

The condition (b) implies  $\tilde{d}(F^2x_\lambda, Fy_\eta) \leq \left(1 - \frac{m}{2}\right)\tilde{d}(Fx_\lambda, y_\eta) + \mu[\tilde{d}(Fx_\lambda, Fy_\eta) + \tilde{d}(y_\eta, F^2x_\lambda)]$   
iii)  $\tilde{d}(x_\lambda, Fy_\eta) \leq (3 - m)\tilde{d}(x_\lambda, Fx_\lambda) + \left(1 - \frac{m}{2}\right)\tilde{d}(x_\lambda, y_\eta) + \mu[2\tilde{d}(x_\lambda, Fx_\lambda) + \tilde{d}(x_\lambda, Fy_\eta) + \tilde{d}(y_\eta, Fx_\lambda) + 2\tilde{d}(Fx_\lambda, F^2x_\lambda)]$

**Proof:** i) We have, for all  $x_\lambda \in M$

$$\gamma\tilde{d}(x_\lambda, Fx_\lambda) \leq \tilde{d}(x_\lambda, Fx_\lambda) + \mu\tilde{d}(Fx_\lambda, F^2x_\lambda)$$

So by the condition  $B_{\gamma, \mu}$  (replacing  $y_\eta$  by  $Fx_\lambda$ )

$$\begin{aligned}\tilde{d}(Fx_\lambda, F^2x_\lambda) &\leq (1 - \gamma)\tilde{d}(x_\lambda, Fx_\lambda) + \mu\tilde{d}(x_\lambda, F^2x_\lambda) \\ &\leq (1 - \gamma)\tilde{d}(x_\lambda, Fx_\lambda) + \mu(\tilde{d}(x_\lambda, Fx_\lambda) + \tilde{d}(Fx_\lambda, F^2x_\lambda)) \\ &\Rightarrow \tilde{d}(Fx_\lambda, F^2x_\lambda) \leq \left(\frac{1 - \gamma + \mu}{1 - \mu}\right)\tilde{d}(x_\lambda, Fx_\lambda) \leq \tilde{d}(x_\lambda, Fx_\lambda)\end{aligned}$$

ii) We assume on the contrary that:

$$\frac{m}{2}\tilde{d}(x_\lambda, Fx_\lambda) > \tilde{d}(x_\lambda, y_\eta) \text{ and } \frac{m}{2}\tilde{d}(Fx_\lambda, F^2x_\lambda) > \tilde{d}(Fx_\lambda, y_\eta), \text{ for some } x_\lambda, y_\eta \in M.$$

Now

$$\begin{aligned}\tilde{d}(x_\lambda, Fx_\lambda) &\leq \tilde{d}(x_\lambda, y_\eta) + \tilde{d}(y_\eta, Fx_\lambda) < \frac{m}{2}\tilde{d}(x_\lambda, Fx_\lambda) + \frac{m}{2}\tilde{d}(Fx_\lambda, F^2x_\lambda) \quad (\text{by (i)}) \\ &< \frac{m}{2}\tilde{d}(x_\lambda, Fx_\lambda) + \frac{m}{2}\tilde{d}(x_\lambda, Fx_\lambda) \leq \tilde{d}(x_\lambda, Fx_\lambda) \quad \text{since } m \leq 1\end{aligned}$$

That is  $\tilde{d}(x_\lambda, Fx_\lambda) < \tilde{d}(x_\lambda, Fx_\lambda)$ . This is not possible, so, at least one of (a) and (b) holds.

$$\text{iii) } \tilde{d}(x_\lambda, Fy_\eta) \leq \tilde{d}(x_\lambda, Fx_\lambda) + \tilde{d}(Fx_\lambda, Fy_\eta)$$

If (ii) (a) holds,

$$\begin{aligned}\tilde{d}(x_\lambda, Fx_\lambda) &\leq \tilde{d}(x_\lambda, Fx_\lambda) + \left(1 - \frac{m}{2}\right)\tilde{d}(x_\lambda, y_\eta) + \mu[\tilde{d}(x_\lambda, Fy_\eta) + \tilde{d}(y_\eta, Fx_\lambda)] \\ &\leq (3 - m)\tilde{d}(x_\lambda, Fx_\lambda) + \left(1 - \frac{m}{2}\right)\tilde{d}(x_\lambda, y_\eta) + \mu[2\tilde{d}(x_\lambda, Fy_\eta) + \tilde{d}(x_\lambda, Fy_\eta) + \tilde{d}(y_\eta, Fx_\lambda) + 2\tilde{d}(Fx_\lambda, F^2x_\lambda)]\end{aligned}$$

If (ii) (b) holds,

$$\begin{aligned}
 \tilde{d}(x_\lambda, Fy_\eta) &\leq \tilde{d}(x_\lambda, Fx_\lambda) + \tilde{d}(Fx_\lambda, F^2x_\lambda) + \tilde{d}(F^2x_\lambda, Fy_\eta) \\
 &\leq \tilde{d}(x_\lambda, Fx_\lambda) + \left(1 - \frac{m}{2}\right) \tilde{d}(Fx_\lambda, x_\lambda) + \mu [\tilde{d}(Fx_\lambda, Fx_\lambda) + \tilde{d}(x_\lambda, F^2x_\lambda)] \\
 &\leq (3-m)\tilde{d}(x_\lambda, Fx_\lambda) + \left(1 - \frac{m}{2}\right) \tilde{d}(x_\lambda, y_\eta) + \mu [2\tilde{d}(x_\lambda, Fx_\lambda) + \tilde{d}(x_\lambda, Fy_\eta) + \tilde{d}(y_\eta, Ex_\lambda) + 2\tilde{d}(Fx_\lambda, F^2x_\lambda)] \\
 &\quad + \left(1 - \frac{m}{2}\right) \tilde{d}(Fx_\lambda, y_\eta) + \mu [\tilde{d}(Fx_\lambda, Fy_\eta) + \tilde{d}(y_\eta, F^2x_\lambda)] \\
 &= (3-c)\tilde{d}(x_\lambda, Fx_\lambda) + \left(1 - \frac{m}{2}\right) \tilde{d}(x_\lambda, y_\eta) + \mu [\tilde{d}(x_\lambda, F^2x_\lambda) + \tilde{d}(Fx_\lambda, Fy_\eta) + \\
 &\quad \tilde{d}(y_\eta, F^2x_\lambda)] \\
 &\leq (3-c)\tilde{d}(x_\lambda, Ex_\lambda) + \left(1 - \frac{m}{2}\right) \tilde{d}(x_\lambda, y_\eta) \\
 &\quad + \mu [\tilde{d}(x_\lambda, Fx_\lambda) + \tilde{d}(Fx_\lambda, F^2x_\lambda) + \tilde{d}(x_\lambda, F^2x_\lambda) + \tilde{d}(x_\lambda, Fx_\lambda) + \tilde{d}(x_\lambda, Fy_\eta) + \tilde{d}(y_\eta, Fx_\lambda) \\
 &\quad + \tilde{d}(Fx_\lambda, F^2x_\lambda)] \\
 &= (3-c)\tilde{d}(x_\lambda, Fx_\lambda) + \left(1 - \frac{m}{2}\right) \tilde{d}(x_\lambda, y_\eta) + \mu [2\tilde{d}(x_\lambda, Fx_\lambda) + \tilde{d}(x_\lambda, Fy_\eta) + \\
 &\quad \tilde{d}(y_\eta, Fx_\lambda) + 2\tilde{d}(Fx_\lambda, F^2x_\lambda)]
 \end{aligned}$$

#### 2.4. Proposition:

Let M be a nonempty convex and bounded subset of a soft metric space  $\tilde{X}$  and F be a self-mapping on M. We assume that F satisfies the condition  $B_{\gamma, \mu}$  on M. For  $x_{\lambda_0}^0 \in M$ , let a sequence  $\{x_{\lambda_n}^n\}$  in M be defined by

$$x_{\lambda_{n+1}}^{n+1} = \rho Fx_{\lambda_n}^n + (1-\rho)x_{\lambda_n}^n, \quad (2.5.1)$$

Where  $\rho \in \gamma, 1) - \{0\}$ ,  $n \in N \cup \{0\}$ , then  $\tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) \rightarrow 0$  as  $n \rightarrow \infty$

Proof: Since  $\rho \geq \gamma$  we have

$$\begin{aligned}
 \gamma \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) &\leq \rho \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) = \tilde{d}(x_{\lambda_n}^n, x_{\lambda_{n+1}}^{n+1}) \quad (\text{By (2.5.1)}) \\
 \text{i.e.} \quad \gamma \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) &\leq d(x_{\lambda_n}^n, x_{\lambda_{n+1}}^{n+1}) + \mu d(x_{\lambda_{n+1}}^{n+1}, Fx_{\lambda_{n+1}}^{n+1})
 \end{aligned}$$

So by the condition  $B_{\gamma, \mu}$  (for  $y_n^n = x_{\lambda_{n+1}}^{n+1}$ )

$$\begin{aligned}
 \tilde{d}(Fx_{\lambda_{n+1}}^{n+1}, Fx_{\lambda_{n+1}}^{n+1}) &\leq (1-\gamma)\tilde{d}(x_{\lambda_n}^n, x_{\lambda_{n+1}}^{n+1}) + \mu [\tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_{n+1}}^{n+1}) + \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n)] \\
 \tilde{d}\left(Fx_{\lambda_n}^n, \frac{1}{\rho}(x_{\lambda_{n+2}}^{n+2} - (1-\rho)x_{\lambda_{n+1}}^{n+1})\right) &\leq \tilde{d}(x_{\lambda_n}^n, x_{\lambda_{n+1}}^{n+1}) + \mu \left[\tilde{d}\left(x_{\lambda_n}^n, \frac{1}{\rho}(x_{\lambda_{n+2}}^{n+2} - (1-\rho)x_{\lambda_{n+1}}^{n+1})\right) + d(x_{\lambda_{n+1}}^{n+1}, Fx_{\lambda_n}^n)\right]
 \end{aligned}$$

For which we get  $(1-\mu) \lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) \leq 0$

$$\Rightarrow \lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) = 0 \quad (\text{Since } \mu \neq 1)$$

#### 2.5. Theorem

Let M be a compact and convex subset of a soft Metric space  $\tilde{X}$ . Let F be a self-mapping on M satisfying the condition  $B_{\gamma, \mu}$ . For  $x_{\lambda_0}^0 \in M$ , let  $\{x_{\lambda_n}^n\}$  be a sequence in M as defined in Proposition 2.6, where  $\gamma$  is sufficiently small. Then  $\{x_{\lambda_n}^n\}$  converges strongly to a fixed point of F.

Proof: Since M is compact, there exists a subsequence  $\{x_{\lambda_{n_j}}^{n_j}\}$  of  $\{x_{\lambda_n}^n\}$  and  $z_\rho \in M$  such that

$\{x_{\lambda_{n_j}}^{n_j}\}$  converges to  $z_\rho$  (see 15).

Now, by proposition for  $\gamma = \frac{m}{2}$ ,  $m \in [0, 1]$

$$\gamma \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fx_{\lambda_{n_j}}^{n_j}) \leq \tilde{d}(x_{\lambda_{n_j}}^{n_j}, z_\rho) \text{ Implies } \gamma \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fx_{\lambda_{n_j}}^{n_j}) \leq \tilde{d}(x_{\lambda_{n_j}}^{n_j}, z_\rho) + \mu \tilde{d}(z_\rho, Fz_\rho)$$

So by the condition  $B\gamma, \mu$  we have  $\tilde{d}(Fx_{\lambda_{n_j}}^{n_j}, Fz_\rho) \leq (1 - \gamma)\tilde{d}(x_{\lambda_{n_j}}^{n_j}, z_\rho) + \mu \left[ \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fz_\rho) + \tilde{d}(z_\rho, Fx_{\lambda_{n_j}}^{n_j}) \right]$

Again

$$\begin{aligned} \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fz_\rho) &\leq \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fx_{\lambda_{n_j}}^{n_j}) + \tilde{d}(Fx_{\lambda_{n_j}}^{n_j}, Fz_\rho) \\ &\leq \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fx_{\lambda_{n_j}}^{n_j}) + (1 - \gamma)\tilde{d}(x_{\lambda_{n_j}}^{n_j}, z_\rho) + \mu \left[ \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fz_\rho) + \tilde{d}(z_\rho, Fx_{\lambda_{n_j}}^{n_j}) \right] \\ &\leq \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fx_{\lambda_{n_j}}^{n_j}) + (1 - \gamma)\tilde{d}(x_{\lambda_{n_j}}^{n_j}, z_\rho) + \mu \left[ \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fz_\rho) + \tilde{d}(z_\rho, x_{\lambda_{n_j}}^{n_j}) + \tilde{d}(x_{\lambda_{n_j}}^{n_j}, Fx_{\lambda_{n_j}}^{n_j}) \right] \end{aligned}$$

So, taking  $n_j \rightarrow \infty$  and using proposition, we get

$$(1 - \mu)\tilde{d}(z_\rho, Fz_\rho) \leq 0 \text{ Implies that } Fz_\rho = z_\rho \text{ (Since } \mu \neq 1 \text{)}$$

Showing that  $z_\rho$  is soft point for F. Now

$$\begin{aligned} \tilde{d}(x_{\lambda_{n+1}}^{n+1}, z_\rho) &\leq \rho \tilde{d}(Fx_{\lambda_n}^n, z_\rho) + (1 - \rho)\tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &\leq \rho \tilde{d}(x_{\lambda_n}^n, z_\rho) + (1 - \rho)\tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &= \tilde{d}(x_{\lambda_n}^n, z_\rho) \quad \text{for all } n \in \mathbb{N} \cup \{0\} \end{aligned}$$

Thus is a monotonically decreasing sequence of nonnegative real numbers and will converge to some real, say  $u$ . Now

$$\begin{aligned} \tilde{d}(x_{\lambda_n}^n, Fz_\rho) &\leq \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + (1 - \gamma)\tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &\quad + \mu [\tilde{d}(x_{\lambda_n}^n, Fz_\rho) + \tilde{d}(z_\rho, x_{\lambda_n}^n) + \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n)] \\ \Rightarrow \tilde{d}(x_{\lambda_n}^n, z_\rho) &\leq \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + (1 - \gamma)\tilde{d}(x_{\lambda_n}^n, z_\rho) + \mu [2\tilde{d}(x_{\lambda_n}^n, z_\rho) + \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n)] \end{aligned}$$

Taking limit as  $n \rightarrow \infty$ , we get  $u \leq (1 - \gamma)u + \mu(2u) \Rightarrow (\gamma - 2\mu) \leq 0$ , which is possible only for  $u = 0$ , since  $2\mu \leq \gamma$ . Hence,  $\{x_{\lambda_n}^n\}$  converges strongly to  $z_\rho$ .

## 2.6. Theorem

Let  $M$  be a weakly compact and convex subset of a uniformly convex soft Metric Space  $\tilde{X}$ . Let  $F$  be a self-mapping on  $M$  satisfying the condition  $B\gamma, \mu$ . Then  $F$  has a soft fixed point.

Proof: Consider the sequence  $\{x_{\lambda_n}^n\}$  in  $M$  as defined in Proposition

Then,  $\limsup d(Fx_{\lambda_n}^n, x_{\lambda_n}^n) = 0$

As in [7], let  $g$  be a continuous convex function from  $M$  into  $[0, \infty)$  defined by

$$g(x_{\lambda_n}^n) = \lim_{n \rightarrow \infty} \sup d(x_{\lambda_n}^n, x_{\lambda_n}^n), \text{ for all } x_{\lambda_n}^n \in M$$

Again, since  $M$  is weakly compact and  $g$  is weakly lower semi-continuous, there is  $z_\rho \in M$  such that:

$$g(z_\rho) = \min\{g(x_{\lambda_n}^n) : x_{\lambda_n}^n \in C\}$$

$$\begin{aligned} \tilde{d}(x_{\lambda_n}^n, Fz_\rho) &\leq (3 - 2\gamma)\tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + (1 - \gamma)\tilde{d}(x_{\lambda_n}^n, z_\rho) + \mu [2\tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + \tilde{d}(x_{\lambda_n}^n, z_\rho) + \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + 2\tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n)] \end{aligned}$$

$$\text{So, } (1 - \mu) \lim_{n \rightarrow \infty} \sup d(x_{\lambda_n}^n, Fz_\rho) \leq (1 - \gamma + \mu) \lim_{n \rightarrow \infty} \sup d(x_{\lambda_n}^n, z_\rho)$$

$$\Rightarrow \lim_{n \rightarrow \infty} \sup d(x_{\lambda_n}^n, Fz_\rho) \leq \frac{(1 - \gamma + \mu)}{1 - \mu} \lim_{n \rightarrow \infty} \sup d(x_{\lambda_n}^n, z_\rho)$$

$$\Rightarrow g(Fz_\rho) \leq g(z_\rho)$$

Since  $g(z_\rho)$  is the minimum.  $g(Fz_\rho) = g(z_\rho)$

Now, if  $Fz_\rho \neq z_\rho$ , then as  $g$  is strictly quasi-convex, we have

$$g(z_\rho) \leq g(\rho Fz_\rho + (1 - \rho)z_\rho) < \max\{g(z_\rho), g(Fz_\rho)\} = g(z_\rho)$$

Which is a contradiction, hence  $Fz_\rho = z_\rho$ .

## 2.7. Theorem

Let  $M$  be a nonempty subset of a soft Metric space  $\tilde{X}$  having the Opial property. Let  $F$  be a self-mapping on  $M$  satisfying the condition  $B_{\gamma, \mu}$ . If  $\{x_{\lambda_n}^n\}$  is a sequence in  $\tilde{X}$  such that:

- (i)  $\{x_{\lambda_n}^n\}$  Converges weakly to  $z_\rho$ ,
- (ii)  $\lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, \{x_{\lambda_n}^n\}) = 0$ , Then  $Fz_\rho = z_\rho$ .

Proof:

$$\gamma \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) \leq \tilde{d}(x_{\lambda_n}^n, z_\rho) \leq \tilde{d}(x_{\lambda_n}^n, z_\rho) + \mu \tilde{d}(z_\rho, Fz_\rho).$$

So, by the condition  $B_{\gamma, \mu}$

$$\tilde{d}(Fx_{\lambda_n}^n, Fz_\rho) \leq (1 - \gamma) \tilde{d}(x_{\lambda_n}^n, z_\rho) + \mu [\tilde{d}(x_{\lambda_n}^n, Fz_\rho) + \tilde{d}(z_\rho, Fx_{\lambda_n}^n)] \quad (2.8.1)$$

Now

$$\begin{aligned} \tilde{d}(x_{\lambda_n}^n, Fz_\rho) &\leq \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + \tilde{d}(Fx_{\lambda_n}^n, Fz_\rho) \\ &\leq \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + (1 - \gamma) \tilde{d}(x_{\lambda_n}^n, z_\rho) + \mu [\tilde{d}(x_{\lambda_n}^n, Fz_\rho) + \tilde{d}(z_\rho, Fx_{\lambda_n}^n)] \end{aligned}$$

by 2.8.1

So, taking limit as  $n \rightarrow \infty$  and using (ii), we get

$$\tilde{d}(x_{\lambda_n}^n, Fz_\rho) \leq \frac{1 - \gamma + \mu}{1 - \mu} \tilde{d}(x_{\lambda_n}^n, z_\rho) \leq \tilde{d}(x_{\lambda_n}^n, z_\rho)$$

$$\text{So, } \lim_{n \rightarrow \infty} \inf \tilde{d}(x_{\lambda_n}^n, Fz_\rho) \leq \lim_{n \rightarrow \infty} \inf \tilde{d}(x_{\lambda_n}^n, z_\rho) \quad (2.8.2)$$

Let  $Fz_\rho \neq z_\rho$  Since  $x_{\lambda_n}^n \rightarrow z_\rho$  (weakly) the opial property, we have

$$\lim_{n \rightarrow \infty} \inf \tilde{d}(x_{\lambda_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \inf \tilde{d}(x_{\lambda_n}^n, Fz_\rho)$$

This is contradiction to (2.8.2), so  $Fz_\rho = z_\rho$

## 2.8. Theorem

Let  $M$  be a weakly compact convex subset of a soft Metric space  $\tilde{X}$  with the Opial property,  $F$  be a self-mapping on  $M$  satisfying the condition  $B_{\gamma, \mu}$ , and the sequence  $\{x_{\lambda_n}^n\}$  in  $M$  be as defined in Proposition. Then  $\{x_{\lambda_n}^n\}$  converges weakly to a fixed point of  $F$ .

Proof: It is clear that  $\tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) \rightarrow 0$  as  $n \rightarrow \infty$ .

Since  $M$  is weakly compact, there exists a subsequence  $\{x_{\lambda_{n_j}}^{n_j}\}$  of  $\{x_{\lambda_n}^n\}$  and  $z_\rho \in M$  such that  $\{x_{\lambda_{n_j}}^{n_j}\}$  converges weakly to  $z_\rho$  clearly  $z_\rho$  is a fixed point of  $F$ .

We assume that  $\{x_{\lambda_n}^n\}$  does not converge weakly to  $z_\rho$ . Then there is a subsequence  $\{x_{\lambda_{n_j}}^{n_j}\}$  of  $\{x_{\lambda_n}^n\}$  and  $u_l \in M$  such that  $\{x_{\lambda_{n_j}}^{n_j}\}$  converges weakly to  $u_l$  and  $u_l \neq z_\rho$ . Again,  $Fu_l = u_l$

Now 
$$\lim_{n \rightarrow \infty} \widetilde{\inf} d(x_{\lambda_n}^n, z_\rho) = \lim_{n_j \rightarrow \infty} \widetilde{\inf} d(x_{\lambda_{n_j}}^{n_j}, z_\rho) < \lim_{n_j \rightarrow \infty} \widetilde{\inf} d(x_{\lambda_{n_j}}^{n_j}, u_l)$$

(by opial property)

$$= \lim_{n_j \rightarrow \infty} \widetilde{\inf} d(x_{\lambda_{n_j}}^{n_j}, u_l) < \lim_{n_j \rightarrow \infty} \widetilde{\inf} d(x_{\lambda_{n_j}}^{n_j}, z_\rho) = \lim_{n \rightarrow \infty} \inf d(x_{\lambda_n}^n, z_\rho)$$

This is contradiction, so  $\{x_{\lambda_n}^n\}$  converges weakly to  $z_\rho$ .

## 2.9. Lemma

Let  $M$  be a non empty closed and convex subset of a soft Metric space  $\tilde{X}$ . Let  $F$  be a self Mapping on  $M$  satisfying the condition  $B\gamma, \mu$ . For  $x_{\lambda_0}^0$  in  $M$ , let  $\{x_{\lambda_n}^n\}$  be a sequence in  $M$  defined by the above iteration. Then  $\lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_n}^n, z_\rho)$  exist for all  $z_\rho$  in  $F(F)$ .

$$\begin{aligned} \tilde{d}(x_{\lambda_{n+1}}^{n+1}, z_\rho) &= \tilde{d}(\beta_n Fy_{\eta_n}^n + (1 - \beta_n)y_{\eta_n}^n, z_\rho) \leq \beta_n \tilde{d}(Fy_{\eta_n}^n, z_\rho) + \tilde{d}((1 - \beta_n)y_{\eta_n}^n, z_\rho) \\ &\leq \beta_n \tilde{d}(y_{\eta_n}^n, z_\rho) + (1 - \beta_n) \tilde{d}(y_{\eta_n}^n, z_\rho) = \tilde{d}(y_{\eta_n}^n, z_\rho) \\ &= \tilde{d}(\alpha_n Fx_{\lambda_n}^n + (1 - \alpha_n)x_{\lambda_n}^n, z_\rho) = \alpha_n \tilde{d}(Fx_{\lambda_n}^n, z_\rho) + (1 - \alpha_n) \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &= \tilde{d}(x_{\lambda_n}^n, z_\rho) \end{aligned}$$

That is  $\tilde{d}(x_{\lambda_n}^n, z_\rho)$  is non-increasing and bounded sequence. Thus there exist for all  $z_\rho$  in  $F(F)$ .

## 2.10. Lemma

Let  $\tilde{X}$  be a uniformly convex soft Metric space. Let  $\{\delta_n\}$  be a sequence of real numbers such that  $0 < a \leq \delta_n \leq b < 1, \forall n \in \mathbb{N}$  and let  $\{x_{\lambda_n}^n\}$  and  $\{y_{\eta_n}^n\}$  be sequences in  $\tilde{X}$  such that  $\limsup x_{\lambda_n}^n \leq r, \limsup y_{\eta_n}^n \leq r$  and  $\lim[\delta_n x_{\lambda_n}^n + (1 - \delta_n)y_{\eta_n}^n] = r$  for some  $r \geq 0$  then  $\lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_n}^n, y_{\eta_n}^n) = 0$

## 2.11. Theorem

Let  $M$  be a nonempty closed convex subset of a uniformly convex soft Metric space  $\tilde{X}$ . Let  $F$  be a self-mapping on  $M$  satisfying  $B\gamma, \mu$  condition. Let  $\{x_{\lambda_n}^n\}$  be a sequence in  $M$  defined by the iteration scheme where  $\alpha_n, \beta_n \in (0, 1)$ . Then  $F(F) \neq \emptyset$  if and only if  $\{x_{\lambda_n}^n\}$  is bounded and  $\lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) = 0$ .

Proof: Let  $F(F) \neq \emptyset$  and  $z_\rho \in F(F)$



By lemma 3.15  $\lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_n}^n, z_\rho)$  exist and  $\{x_{\lambda_n}^n\}$  is bounded.

$$\lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_n}^n, z_\rho) = q \text{ (say)} \quad (2.12..1)$$

Now

$$\begin{aligned} \tilde{d}(Fy_{\eta_n}^n, z_\rho) &\leq \tilde{d}(y_{\eta_n}^n, z_\rho) \text{ (by lemma 3.3)} \\ &\leq \tilde{d}(x_{\lambda_n}^n, z_\rho) \end{aligned}$$

$$\text{So } \lim_{n \rightarrow \infty} \widetilde{\sup} d(Fy_{\eta_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \widetilde{\sup} d(y_{\eta_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \widetilde{\sup} d(x_{\lambda_n}^n, z_\rho) = q \quad (2.12.2)$$

Also

$$\begin{aligned} \lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_{n+1}}^{n+1}, z_\rho) &= \lim_{n \rightarrow \infty} \tilde{d}(\beta_n(Fy_{\eta_n}^n + (1-\beta_n)), z_\rho) \\ &\leq \lim_{n \rightarrow \infty} \beta_n \tilde{d}(Fy_{\eta_n}^n, z_\rho) + \lim_{n \rightarrow \infty} (1-\beta_n) \tilde{d}(y_{\eta_n}^n, z_\rho) \\ &= \lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_n}^n, z_\rho) = q \end{aligned}$$

$$\text{So } \lim_{n \rightarrow \infty} \tilde{d}(Fy_{\eta_n}^n, y_{\eta_n}^n) = 0$$

Again we have

$$\lim_{n \rightarrow \infty} \widetilde{\sup} d(Fx_{\lambda_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \widetilde{\sup} d(x_{\lambda_n}^n, z_\rho) = q \quad (2.12.3)$$

Now

$$\begin{aligned} \tilde{d}(x_{\lambda_{n+1}}^{n+1}, z_\rho) &\leq \beta_n \tilde{d}(Fy_{\eta_n}^n, z_\rho) + (1-\beta_n) \tilde{d}(y_{\eta_n}^n, z_\rho) \leq \beta_n \tilde{d}(y_{\eta_n}^n, z_\rho) + (1-\beta_n) \tilde{d}(y_{\eta_n}^n, z_\rho) \\ &\Rightarrow q \leq \lim_{n \rightarrow \infty} \widetilde{\inf} d(y_{\eta_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \widetilde{\sup} d(y_{\eta_n}^n, z_\rho) \leq q \text{ (using 3.7)} \\ &\Rightarrow \lim_{n \rightarrow \infty} \tilde{d}(y_{\eta_n}^n, z_\rho) = q \end{aligned}$$

$$\text{So } \lim_{n \rightarrow \infty} [\alpha_n \tilde{d}(Fx_{\lambda_n}^n, z_\rho) + (1-\alpha_n) \tilde{d}(x_{\lambda_n}^n, z_\rho)] = \lim_{n \rightarrow \infty} \tilde{d}(y_{\eta_n}^n, z_\rho) = q \quad (2.12.4)$$

So

$$\lim_{n \rightarrow \infty} [\tilde{d}(Fx_{\lambda_n}^n, z_\rho) - \tilde{d}(x_{\lambda_n}^n, z_\rho)] = 0 \Rightarrow \lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) = 0$$

Conversely, let  $\{x_{\lambda_n}^n\}$  be bounded and  $\lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) = 0$ . Let  $z_\rho \in A(M, \{x_{\lambda_n}^n\})$ .

$$\begin{aligned} \tilde{d}(x_{\lambda_n}^n, Fz_\rho) &\leq (3-m) \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + \left(1 - \frac{m}{2}\right) \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &\quad + \mu \left[ 2\tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + \tilde{d}(x_{\lambda_n}^n, Fz_\rho) + \tilde{d}(z_\rho, Fx_{\lambda_n}^n) + 2\tilde{d}(Fx_{\lambda_n}^n, F^2x_{\lambda_n}^n) \right] \\ &\leq (3-m) \tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) + \left(1 - \frac{m}{2}\right) \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &\quad + \mu \left[ 2\tilde{d}(x_{\lambda_n}^n, Fz_\rho) + \tilde{d}(x_{\lambda_n}^n, z_\rho) + \tilde{d}(z_\rho, Fz_\rho) + 2\tilde{d}(x_{\lambda_n}^n, Fx_{\lambda_n}^n) \right] \\ &\Rightarrow (1-\mu) \lim_{n \rightarrow \infty} \widetilde{\sup} d(x_{\lambda_n}^n, Fz_\rho) \leq \left(1 - \frac{m}{2} + \mu\right) \lim_{n \rightarrow \infty} \widetilde{\sup} d(x_{\lambda_n}^n, z_\rho) \\ &\Rightarrow \lim_{n \rightarrow \infty} \widetilde{\sup} d(x_{\lambda_n}^n, Fz_\rho) \leq \left(\frac{1-m/2+\mu}{1-\mu}\right) \lim_{n \rightarrow \infty} \widetilde{\sup} d(x_{\lambda_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \widetilde{\sup} d(x_{\lambda_n}^n, z_\rho) \\ &\quad \left(\text{as } \frac{1-m/2+\mu}{1-\mu} < 1, \text{ for } 2\mu \leq \gamma = \frac{m}{2}\right) \end{aligned}$$

$$\Rightarrow r(Fz_\rho, \{x_{\lambda_n}^n\}) \leq r(z_\rho, \{x_{\lambda_n}^n\})$$

So,  $Fz_\rho \in A(M, \{x_{\lambda_n}^n\})$ .

Since  $\tilde{X}$  is uniformly convex, so  $Fz_\rho = z_\rho$  i.e.  $z_\rho \in F(F)$ , hence  $F(F)$  is not empty

## 2.12. Lemma

Let  $F$  be a self-mapping on a nonempty closed and convex subset  $M$  of a Metric space  $\tilde{X}$ . Let  $F$  satisfy the condition  $B_{\gamma, \mu}$  on  $M$ . For  $x_{\lambda_0}^0 \in M$ , we define a sequence  $\{x_{\lambda_n}^n\}$  in  $M$  by the iteration scheme (3.10), where  $0 \leq a_n, b_n \leq 1$ , then,  $\lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_n}^n, z_\rho)$  exist for all  $z_\rho \in F(F)$ .

Proof: Can be proved easily

## 2.13. Theorem

Let  $F$  be a self-mapping on a nonempty closed and convex subset  $M$  of a uniformly convex soft metric space  $\tilde{X}$ . Let  $F$  satisfy the condition  $B_{\gamma, \mu}$  on  $M$ . Let  $\{x_{\lambda_n}^n\}$  be a sequence in  $M$  defined by the iteration scheme where  $0 \leq a_n, b_n \leq 1$  and  $\lim_{n \rightarrow \infty} a_n = k (\neq 0)$ . Then  $F(F) \neq \emptyset$  if and only if  $\{x_{\lambda_n}^n\}$  is bounded and  $\lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) = 0$ .

Proof: Let  $F(F) \neq \emptyset$  and  $z_\rho \in F(F)$ . Then,  $\lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_n}^n, z_\rho)$  exists and  $\{x_{\lambda_n}^n\}$  is bounded

$$\lim_{n \rightarrow \infty} \tilde{d}(x_{\lambda_n}^n, z_\rho) = q \text{ (say)} \quad (2.14.1)$$

we have

$$\tilde{d}(Fy_{\eta_n}^n, z_\rho) \leq \tilde{d}(y_{\eta_n}^n, z_\rho) \leq \tilde{d}(x_{\lambda_n}^n, z_\rho)$$

So

$$\lim_{n \rightarrow \infty} \sup d(Fy_{\eta_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \sup d(y_{\eta_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \sup d(x_{\lambda_n}^n, z_\rho) = q \quad (2.14.2)$$

Again,

$$\begin{aligned} \tilde{d}(x_{\lambda_{n+1}}^{n+1}, z_\rho) &= \tilde{d}(Fz_{\rho_n}^n, z_\rho) \leq \tilde{d}(z_{\rho_n}^n, z_\rho) = \tilde{d}((1-a_n)x_{\lambda_n}^n + a_n Fy_{\eta_n}^n, z_\rho) \\ &\leq a_n \tilde{d}(Fy_{\eta_n}^n, z_\rho) + (1-a_n) \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &\leq a_n \tilde{d}(y_{\eta_n}^n, z_\rho) + (1-a_n) \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &\leq a_n \tilde{d}((1-b_n)x_{\lambda_n}^n + b_n Fx_{\lambda_n}^n, z_\rho) + (1-a_n) \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &\leq a_n [b_n \tilde{d}(Fx_{\lambda_n}^n, z_\rho) + (1-b_n) \tilde{d}(x_{\lambda_n}^n, z_\rho)] + (1-a_n) \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &\leq a_n b_n \tilde{d}(Fx_{\lambda_n}^n, z_\rho) + a_n \tilde{d}(x_{\lambda_n}^n, z_\rho) - b_n \tilde{d}(x_{\lambda_n}^n, z_\rho) + \tilde{d}(x_{\lambda_n}^n, z_\rho) - a_n \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &= \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ &= \tilde{d}(x_{\lambda_n}^n, z_\rho) \end{aligned} \quad (2.14.3)$$

Thus

$$\tilde{d}(x_{\lambda_{n+1}}^{n+1}, z_\rho) = \tilde{d}(x_{\lambda_n}^n, z_\rho) \quad (2.14.4)$$

Again,

$$\begin{aligned} \tilde{d}(x_{\lambda_n}^n, z_\rho) &\leq \tilde{d}(x_{\lambda_n}^n, z_\rho), \text{ for all } n \in N \cup \{0\} \\ \Rightarrow \lim_{n \rightarrow \infty} \sup d(Ex_{\lambda_n}^n, z_\rho) &\leq \lim_{n \rightarrow \infty} \sup d(x_{\lambda_n}^n, z_\rho) = q \end{aligned} \quad (2.14.5)$$

Now we have

$$\begin{aligned} \tilde{d}(x_{\lambda_{n+1}}^{n+1}, z_\rho) &\leq a_n \tilde{d}(y_{\eta_n}^n, z_\rho) + (1-a_n) \tilde{d}(x_{\lambda_n}^n, z_\rho) \\ \Rightarrow \tilde{d}(x_{\lambda_{n+1}}^{n+1}, z_\rho) - (1-a_n) \tilde{d}(x_{\lambda_n}^n, z_\rho) &\leq a_n \tilde{d}(y_{\eta_n}^n, z_\rho) \\ \Rightarrow q - (1-k)q &\leq \lim_{n \rightarrow \infty} \inf d(y_{\eta_n}^n, z_\rho) \\ \Rightarrow q &\leq \lim_{n \rightarrow \infty} \inf d(y_{\eta_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \sup d(y_{\eta_n}^n, z_\rho) \leq q \\ \Rightarrow \lim_{n \rightarrow \infty} \tilde{d}(y_{\eta_n}^n, z_\rho) &= q \end{aligned}$$

Thus

$$\lim_{n \rightarrow \infty} [b_n \tilde{d}(Fx_{\lambda_n}^n, z_\rho) + (1-b_n) \tilde{d}(x_{\lambda_n}^n, z_\rho)] = \lim_{n \rightarrow \infty} \tilde{d}(y_{\eta_n}^n, z_\rho) = q$$

we have  $\lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) = 0$

For the converse part, let  $\{x_{\lambda_n}^n\}$  be bounded and  $\lim_{n \rightarrow \infty} \tilde{d}(Fx_{\lambda_n}^n, x_{\lambda_n}^n) = 0$

Let  $z_\rho \in A(M, \{x_{\lambda_n}^n\})$ .

$$\lim_{n \rightarrow \infty} \widetilde{\sup d}(x_{\lambda_n}^n, Fz_\rho) \leq \left( \frac{1 - \frac{m}{2} + \mu}{1 - \mu} \right) \lim_{n \rightarrow \infty} \widetilde{\sup d}(x_{\lambda_n}^n, z_\rho) \leq \lim_{n \rightarrow \infty} \widetilde{\sup d}(x_{\lambda_n}^n, z_\rho)$$

$$\left( \text{as } \frac{1 - m/2 + \mu}{1 - \mu} < 1, \text{ for } 2\mu \leq \gamma = \frac{m}{2} \right)$$

$$\Rightarrow r(Fz_\rho, \{x_{\lambda_n}^n\}) \leq r(z_\rho, \{x_{\lambda_n}^n\})$$

Hence  $Fz_\rho \in A(m, \{x_{\lambda_n}^n\})$ ,  $\tilde{X}$  being uniformly convex,  $Fz_\rho = z_\rho$ , i.e.  $z_\rho \in F(F)$  Hence  $F(F) \neq \emptyset$ .

## References

- [1] N. Akkasriworm, Fixed point theorems and approximating fixed points of generalized (C)-condition mappings, *Int. J. Math. Anal.* 7(19) (2013) 915–925.
- [2] U. Aksoy, E. Karapinar, I. M. Erhan, Fixed points of generalized alpha-admissible contractions on b-metric spaces with an application to boundary value problems, *J. Nonlinear Convex Anal.* 17(2016)1095–1108.
- [3] B. R. Wadkar, R. Bhardwaj, R. M. Sharaff, Couplaed Fixed point theorems in soft Metric space, *Materials today: proceedings*, vol 29, Part-2 (2020) 617-624, <https://doi.org/10.1016/j.matpr.2020.07.322>.
- [4] B. R. Wadkar, R. Bhardwaj and B. Singh, Coupled fixed point theorems with monotone property in soft metric and soft b-metric space, *International journal of Mathematical Analysis*, vol.11, 8(2017) 363-375.
- [5] T. D. Benavides, P. B. Medina, The fixed point property for some generalized non-expansive mappings senormings, *J. Math. Anal. Appl.* 429 (2015) 800–813.
- [6] S. Dhompongsa, W. Inthakon, A. Kaewkhao, Edelstein's method and fixed point theorems for some generalized non-expansive mappings, *J. Math. Anal. Appl.* 350(2009) 12–17.
- [7] J. G. Falset, E. L. Fuster, T. Suzuki, Fixed point theory for a class of generalised non-expansive mappings, *J. Math. Anal. Appl.* 375(2011) 185–195.
- [8] E. Karapinar, Remarks on Suzuki (C)-condition, Atilim University, Department of Mathematics, Incek, 06836 Ankara, Turkey.
- [9] E. Karapinar, K. Tas, Generalised (C)-conditions and related fixed point theorems, *Comput. Math. Appl.* 61(2011) 3370-3380.
- [10] M. A. Khamsi, A. R. Khan, On monotone non-expansive mappings in  $L^1([0, 1])$ , *Fixed Point Theory Appl.* 2015, 94(2015), <https://doi.org/10.1186/s13663-015-0346-x>.
- [11] F. Lael, Z. Heidarpour, Fixed point theorems for a class of generalized non-expansive mappings, *Fixed Point Theory Appl.* 2016, 82 (2016)
- [12] B. R. Wadkar, L. N. Mishra, R. Bhardwaj and B. Singh, Fixed point results related to soft sets, *Australian Journal of Basic and Applied Sciences*, vol.10, 16( 2016) 128-137.
- [13] R. Sukla R., R. Pant, M. De la Sen, Generalized  $\alpha$ -non-expansive mappings in Banach spaces, *Fixed Point Theory Appl.* 2017, 4 (2017).

- [14] T. Suzuki, Strong convergence theorems for infinite families of non expansive mappings in general Banach spaces, Fixed Point Theory Appl. 2005, 685918 (2005)
- [15] T. Suzuki, Fixed point theorems and convergence theorems for some generalized non-expansive mappings, J. Math. Anal. Appl. 340 (2008)1088-1095.
- [16] D. Thakur, B. S. Thakur, M. Postolache, Convergence theorems for generalized non expansive mappings in uniformly convex Banach spaces, Fixed Point Theory Appl. 144 (2015).
- [17] B. R. Wadkar, R. Bhardwaj, V.N. Mishra and B.Singh, Coupled fixed point theorems in soft metric and b- soft metric space, Scientific publication of the state university of Novi Pozar, Ser. A: Appl. Math. Inform and Mech. vol. 9, 1(2017) 59-73.
- [18] B. R. Wadkar. Sonendra Kumar Gupta, Sarla Chouhan, Ramakant Bhardwaj, GVV Jagannadha Rao (2021), “ Fixed point theorems for material research” Materials Today Proceedings 42, 1485-1491